CRISWIST—Y  (s13—zLvs)
[FTX] #eE=1/3037 REZE=77.0% T4 =8KHF /30/50/70 @ EIK=323&1089&15

BRI ATY 88 ——

WREH - AEIEHL o
W77 R A2l
| B LERDr U]
WRE-- B+ A

] f f
/[ wrww ] da
S W,

(SEEET—]
<SEBREEH= 7 E>

Wi A O EEE
CARAR=THE

P [MAX HHE]

% 00%) [FTX] <T>( 9{& /10C)
foegos) <#&>(15 {@ /10C)
F7R--- 5581{&

-H 16R--- 2213 {8

-FRUB (SEEFEFE)--- 600 {@
(1) 1.9¥ xs5EAK=BX 119{@
(2) 508 x5[EM=mX +330 &
(3) 260F> =6 EIRFM=MmKX +478 @
HRUBHEIDBEHIZ., #4 11195

TRIAE, [EAREH] RYET, (FHER] CoARRCET,

Presented by TKC (FEBEH h—4&0L - )7 - axdiarX)




